33440

19510

150 demontdz wc misy a splachovadla, zpétnd montaz
8610 1150 | 1610 430/ 1150 4650 L 1760 1110 | 1660 1660 | 1160 | 1660 | 1180 1660 1900
T 12307 (.0 1120 275 - 2750 2750 2750 2750
(2320) (2440)(80) | | T 1,16 @ (2400) (2400) (2400) (2400) (2400)
o
g2 8 N g B N
N 7 ﬂ 1.17 1.18 7 T8
T 8 7160 1990 sso L1150 , 21503 1840 =2 8 S| gled
A Y glse S > Sk vl glgg
Do $30 & 151 170 190 = - N
y ~ N2 =3
A5 3 700 17850 o 960
8 g 8 1.13 1.14/8 116 2 & 132 S
53] © & .
 a [0.00] o = 3 < sls  \
2 000 & is g 3 e
, 2183 o112 [000] 2 RS ” @
\ | s nﬂ o m R -
N
o
i ¢ 3 Y e ]
L 3 ~
Z) -Jd N 88
ALK s Bx151x320 \A @ N
086/ .\\H .\,{. \/ A 0,00] ~1,06kd) " bw [
i sigooll | Y | NI [ “sle |
% N ¥ /X \ NI1.10 —J N (=]
M/ SIM T XM 5x161k360 3 J
\ S 2 I Y- A ]
7 ui | j Q| o 3 3890 N
7 m - N . Q —_
. \NOAT T/ T14) 3 _¢ - k o 88
© =y —
\ b / o S Qo9 2 NN
35 o 10,00/ \ / 1.19 38§ 14300 223 3 1,60 -
NS 1.09 ] 10,00 SRR — e “ 2 g - ,
S a2 7 / \ -0,80 o m g~ 81.31 W 160 3 7
& [ = :
= 7 /[~ ~\ g S 1250 | 1290 | 1070 | 880 © g <
] [ <[ > 920 3 \I _ 2230 14307, 228 1.30 )
2 X N — 388 £33 Jces0) (71 e 3 3. 80
7 7 . RV AR 115 SN o 5900 7o, 2090 170 R B S e )
2% \ o |8 9 ~ 1~y © [is} 2
IR | ® 3 Y _ = I\ oo
X~ \.\.\\l ; < > ™~ \\ w N 7 o
o adin - — “ 6460 460"/ @ 7
& 10,00] < > 3400 997 [\o70 |, g .06 A Aﬁ A\ 469 f A
= - o T—7 - 7120001 @ ~ 7\._ S 3 H < mwm, g18g
25 2 = [ n 3188 = _ @ ki AN
o i ) 2 &E : - | B P N~
, [ r——\ 20 H —X N ~ < H o 7 S~
~ 1 < o 2 2 N P17 ) je— g . 2
< > S e S8 9300 © = S
6700 162 K——2938— - 2¢ %Im A | V1V & A ,
v / \\ 3 /a L —=——"13 i To 1350 Amm%@ 1350 | 1900 | 1350 @ 4l 51000 3 | X
—~ o H o a
35 . _ | 10,1350 | 1950 | 1350 | 20003 e 5 1000 = L | L | 8 3188 | g 888 6
INg== mi | \ 2540 {71 3 2540 = s [0.00] 29 Nwwog g 7 mwwo VAR eRke |/
SoA—— AL Ls0 (750 | o[ 8 . g || |0 (740) BE—\ N R
2 il < m < < m
% 0 107 /././I.\.\\. 71X ////le\\\ 71X ///l\.\ /RN 1.02 A /.//./.I.\.\\ /X /.//./.l.\.\\. /X /././.l.\.\. /A /ﬂ./.l.\.\\. / N 7
3 A o L el e s e e H 1 K 28e
© t ] ] I ! © =
7 7 / \ | o008 A . b 0.00L 4 | | YEEERNY VN Yy \ O X
% mi )oY Y| =AY /L N /\ V| )\ ——\|X| /- AX| =\ o | FI
y [=]
A A S
) af CEIBLLLLL PN
= S
52 < e
m g 2 Q9 Y
“ % X E 480 E 350
% = = — — 1.27 —
6660 9100 °
M 1 2 o Q| 2 m [ M
[~e} [~e}
7 -1,
3po 480750 680
\ % : f 1230 | 1290 | 1070 1050 Mv 1650 | 1650 | 1630 | 1650 | 1770 1080 1650 | 1650 | 1650 | 1640 | 1650
405 405 ? 2740 2740 2740 2740
N “‘\4 ann\ \4 \4 QNN\ \4 \4 FZaYaVa\¥ \4 AN \4 F{aVaTaly \4‘
. : TS AR TEET N EEETS
1,24 a @
20190 16790 T2 D 20100
J
57080
7AY
M



